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1. Add 60.h9 |to| 62.31 2. ivide 384 4.8 3. Multiply 8.729 by 5
4. Multiply 523.01 by 6.7 5. Subtract 35.20 from 62.37
6. Subtract 834.4 from 911. 7 dd 6.235 to 79 .5
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Name: Class: .
7C Add subtract multiply or divide two decimals >7
1. Add 60.59 to 62.31 |2. ivide 3847 by 45 3. Multiply 8.729 by 5.2
85.188
60.59 38 4|70 00 Q7209 < 3 decimal
HIU\-CQ
+16P. .31 45]- 360|y X g | 1f:lecirna|
122.90 247 2458 e
J 2256 | +36450
2124 e o | . answer will
=S4 IO Q) [*
1 1B G be 4 dp
400 453908
-13 60
400
560
85.188 40
4. Multiply 523.01 by 6.7 5. Subtract 35.20 from 62.37
5 2 3 o 2 decimal places 6 ) -; 7
X 67 decimal place - 35.20
366107 5F %7
3138060
3504.167 . answer will
be 3 decimal places
6. Subtract 834.4 from 911.20 7. dd 6.285 to |79 .5
911.1201 6.235
- 834,400 +[79.50D
76.801 85.735
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